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QUESTION 1

To increase resilience and maintain performance a customer wants to upgrade their Hitachi NAS Platform
two-node cluster to a three-node cluster.

What are two prerequisites? (Choose two.)

A. An additional cluster license is needed.

B. A NVRAM upgrade for mirroring must be performed.

C. 10 GbE switches are required for the cluster interconnect.

D. The 10 GbE cluster interconnect media must be single mode fiber.

Correct Answer: AC

QUESTION 2

A customer is planning to implement active-active SyncDR with a Hitachi NAS Platform across two sites. What is the
maximum supported distance?

A. 10 km
B. 25 km
C. 62 km
D. 100 km

Correct Answer: D

QUESTION 3

A customer is considering deploying a Hitachi NAS Platform as their primary NAS solution provider. They have the
following requirements: -100000 NFS Spec2008 OPS -45 TB storage capacity -8000 concurrent users -Redundancy
Which minimum Hitachi NAS Platform configuration would meet these requirements?

A. A2-node 3080 cluster

B. A2-node 3090 cluster

C. A3-node 3090 cluster

D. A4-node 3080 cluster
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Correct Answer: B

QUESTION 4

A Hitachi NAS Platform 4000 customer is enquiring about the Server Farm Migration feature. Which three statements
are correct? (Choose three)

A. If the source server is offline, the migration can be performed.

B. Assignment of tape drives will be done automatically after the EVS migration.

C. During the EVS migration the source server settings will not be cloned to the destination server
D. The source and destination servers must be running the same major firmware level.

E. The source and destination servers can be running different major firmware levels.

Correct Answer: ACD

QUESTION 5

You are planning a data migration from a distributed Windows file server environment to a Hitachi NAS
Platform 4000. You have discovered that some of the applications use hard-coded IP addresses. You
have also identified that login scripts are used to map network drives for the end users.

Which two methods should you use to minimize impact to users? (Choose two.)

A. Modify the login scripts to point to the new location.

B. Use CNAME records to preserve the IP addresses for hard-coded applications.

C. Use the same IP addresses on the EVS as the original server for applications.

D. Use CHS to present a unified namespace and transparently migrate the applications.

Correct Answer: AC

QUESTION 6

A customer with a Hitachi NAS Platform wants to use a Hitachi VSP storage system. You need to gather information
about the VSP and which storage is available. Which tool should you use to review this information?

A. Hitachi Device Manager
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B. Hitachi Storage Navigator Modular 2
C. Hitachi Cluster Manager
D. Hitachi VSP manager

Correct Answer: A

QUESTION 7

A customer plans to implement SNMP management tools for their Hitachi NAS Platform from the
customer\\'s management LAN.

Which two are needed? (Choose two.)

A. a configured SMTP server

B. a configured community string

C. Admin-EVS accessible from the customer\\'s management LAN

D. an enabled HTTPS certificate

Correct Answer: BC

QUESTION 8

What are two characteristics of file system expansion within a Storage Pool? (Choose two.)
A. File systems can be expanded as long as they contain meta data.

B. Chunks define the increment by which file systems grow when they expand.

C. To add more than one file system to a Storage Pool, a license key is required

D. The chunk size limits the file system size.

Correct Answer: BD

QUESTION 9
A customer uses a Hitachi NAS Platform 4000 integrated into a Windows Active Directory infrastructure

and wants to know how security modes can be used in their environment.
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Which two statements are correct? (Choose two.)

A. File system security modes can be applied to file systems or individual virtual volumes.
B. The most appropriate security mode is the Mixed mode.

C. The most appropriate security mode is the UNIX (supports Windows) mode.

D. The most appropriate security mode is the NTFS mode.

Correct Answer: AB

QUESTION 10

A customer has purchased a second Hitachi NAS Platform system. They will replicate files to this Hitachi
NAS Platform using object replication and they want to hold snapshots on the target file system.

Which object replication feature would you use to achieve this?

A. checksum

B. object replication port

C. processing options

D. file replication rules

Correct Answer: C
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